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റF1 = റF2 = 



റF1 = 

റF2 = 



റF1 = റF2 = 





റF2 റF1
റF1

റF2 



റF1 = 

റF2 = 



റF1 = റF2 = 

റFลัพธ์ = റF1 + റF2 = 10 + 5 = 15 นิวตัน 

























A

B

C

D

E

F



A

B

C

D

E

F





A

B

C

D

E

F



A

B

C

D

E

F



A

B

C

D

E

F













A

B

C

D

E

F



A

B

C

D

E

F



A

B

C

D

E

F



A

B

C

D

E

F





4.1
4.2



4.1
റFE

റFA റFB റFC



4.2
റFE

റFAറFCറF



A

B

C

D

E

F



A

B

C

D

E

F



A

B

C

D

E

F



A

B

C

D

E

F





8.1
8.2



8.1
റFB

റFF റFE റFD



8.2

റF

റFB
റFF റFD















റF2 റF1
റF1

റF2 








